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378 23,68 = 12:.7+1961. 62 B,

379  17.7e = 15.8.1961. 27 S.

380 22.8. - 8.9.1961, £8B 8.

381 949 = 6:1041961. 28 B

382 Te10s = 24111961« 2B Bs

383 2417 = 13.11.1961. 28 B.

38 13.71e = 1.12.1961. 27 S, (1 Bl, lose eingelegt)
385 341241961 = 84141962, 28 84 (Streichungen)

386 Bale = 23414 1962. 28 Go

21¢1e = 30 11,1962, 28 B.
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Ballte = 1244 Und Fortse vo, Gebs = 12:64 1962, 32 Ss
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395 22.7« = Qktober 1962. 96 5.

3&6 ':-::-I '1| a = PE- '1:-@1 '1‘“;1{:;-‘:- .j'E' -.'J-

397 Weihnachten 1962/Neu] ahr 1963/ 144¢1.1963 = 27.1.1963, 16 8. (1 Bl,lo
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399 C.2s = 2642.1963. 28 Oo
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Leli T46s = 264641963, 28 S, (Streichungen)
495 'E*r?'lﬁ* = "-?l _.".1- ‘T':..;”--*:';'- oB e
006 RB747e = £3.841963, 28 5.
407 B£3.84 = 11.9.1963., 29 8. (Streichungen)

8 September 1963. 5 S.

409 3.10e = 27.10.71963. 28 5.

490 RB7¢10¢ = 76121963, 28 Se

441 21.12.1963, = B8.1.1964, 23 S. (Streichungen)
U2 4e2.1964 - 25.2.1964, 32 S.

413 10, 3.1964 = 23,6, 1964, 96 S. u. 1 loses Blatt
414 23,64 = 16,7194, 28 S,

415 Be7e = 7=8-"1864, 29 S.

416 August/Septembéar 1964. 17. LDl. (lose)

417 n " 1964, 22 Bl. p




